oaron

F

indynamica

drive and control products

\ BS.2... SINGLE STATION SUBPLATE
e - ."
& - BS.2.**...
.'._: 3 BS. x. 02
e P Single subplate (blanking)
o I I
ET-N ("2 )| ceTOP2NG4 \_@g_l
*
02/03/04/05/07 BS. X. 03
gq I I
No variant
CETOP 2 SUBPLATES ‘ \_:LI _ ZJ:_I
BS.2.**.../ BS.2.12... i ——
1 Serial No. T17 i 55 4. 04
BS.2.14... CH. VII paGe 2 Q | ' n © ,7
BS.2.16... / BS.2.20.. 4 | T ‘ % |
BS.3.2... CH. VIl pace 3 Weight: 0,09 Kg f -
BC.2.50.AB... / BC.2.50.PT... Fixing screws OR 2-010/90
BC.2.51... CH. VIl pace 4 M5x25 UNI 5931 = = ,783' LEpE
BM.2.**.../ BM.2.60... | |
CH. VIl pacE 5 1 T’T\B L
BM.2.50... / BM.2.70...
f? irm BS. X. 07
CH. VII pAGE 6 (L , ; X
D ! ER) o
af™ — : } Nl i i
CMP.02... CH. V PaGE 17 S ! a ‘ o, B
1 T P T B A
i @
BS.2.12 (REAR CONNECTORS)
Single subplate ‘ ‘
(‘2 ) | CETOP2NG4 PT s
@ 1/4" BSP — 52 3045 32.5
rear connectors : ] - — = =
No variant . o/ VT —A—J A
2 R CH TR ' TN RV B R
. Ny \ \\‘/‘/{ /\\ J\‘/ / "
@ Serial No. ] = sl 1= o
/ﬁ++\'/7/ " T <Q
O = &
N %/@“\ j T Y% ‘
Weight: 0,3 Kg P 15. 4 ] 6. _ 40
Fixing screws M5x35 UNI 5931 ’%;TZ‘
BS.2.14 (SIDE CONNECTORS)
Single subplate P |_f \_1 A
Tt B
_
("2 )| cETOP 2/NG4 85
30 g 12 30
K - <
1/4" BSP s L Ls e
side connectors — = — & —t—
r — = F@ I F— =
..:I:' No variant % T Tl
y wlt T w}?k O J fJfr = T H $
@ Serial No. g Lot 1—BTe 41—
L PR U o N I (T 0
= cma R
bk B % ' ¢
ight: Ll \ P - —
Weight: 0,3 Kg L ,,,AJ L;J i D . — — g
. 5 3
Fixing screws M5x35 UNI 5931 6.5 - s o8




oaron Findynomicc

drive and control products
BS.2... SINGLE STATION SUBPLATE

BS.2.16 (connEcTORS SIDE A AND B, REAR P AnD T)

Single subplate ‘

CETOP 2/NG4 PT

1/4" BSP rear 52 26
and side connectors

i B

: 7 AN
No variant 1 &r\T_}‘#J
W' F=-— 1 5 el = I
P I . Ak~ AB | < o
. ~ g — “ g _ wy “ [ [
Serial No. T o S B e
Il Vg, SN I) o
/%ik\//// p )
Weight: 0,3 K & \@ﬁ’f
eight: 0,3 Kg & o A
Fixing screws M5x35 UNI 5931 12]12

BS.2.20 (connECTORS SIDE A AND B, REAR P AND T)

Single subplate

CETOP 2/NG4

max. 40

1/4" BSP rear
and side connectors

max. 98

Type of adjustment
grub screws

47
T
T
-
14
58

JUEHE

Setting ranges i [
1 = max. 30 bar (white spring) ' hd
2 = max. 90 bar (yellow spring) ¥
3 =max. 180 bar (green spring) o .
4 =max.250bar(orange spring) _du |

4
1

00 = No variant = 1=
V1 = Viton = =

Serial No.

L

PT

Weight: 0,45 Kg - I . . .
* The minimum permissible setting pressure depending on the spring:
Fixing screws M5x50 UNI 5931 see cartridge valve type CMP.02...

BS.3.2 (rRepucTioN PLATE FRoM CETOP 3/NG6 TO CETOP 2/NG4)

Single subplate s . o
-7 = 9
('3 ) | CETOP 3/NG6 2l 0 E es [
€
(2 ) | CETOP 2/NG4 O 0 s = — @ 1 @
e B T = DT mv
No variant o - T Bf-r _ 1B OB o
o 7@ f% @77 = < LT 3& > ?;l\“ il
@ Serial No. €l o M@ Ar — da NiZ i NI NH
i & Too— 4 {3*\ 5
/f/t\\\ ! A (f/t\\\ 7:,7;7 ﬁ 7‘ /175
1Y R IR
I
Weight: 0,12 Kg _ le _ _ 1[87
Fixing screws M5x20 UNI 5931 42 OR 2-012/90 :221- S




oaron Findynomico

drive and control products
BC.2... MODULAR COMPONENTS

BC.2.50.AB INTERMEDIATE MODULE FOR PRESSURE GAUGE CONNECTION (VENTS A AND B LINES)

Module base At \ g S N
—+ [V N S ——
S ] VY [ | |
(2 )| cETOP2/NG4 o :} Lo b | H—id :7 e
c I o e IR TR S
Intermediate module for - TL - _,,‘A - AF
pressure gauge connection %
OR 2-010/90 g
Check at ports A and B \ >
; T
No variant St :S}‘ﬂ{ﬂ{b = I
§ AR g&Bf i
© &t O | =23
(1 )| serial No. ° N’HQH L R T
PEANEes
Weight: 0,4 Kg ° LSL 4
o G
_ 60

BC.2.50.PT INTERMEDIATE MODULE FOR PRESSURE GAUGE CONNECTION (VENTS P AND T LINES)

Module base T T T T MJ‘—A—< !
ST IR [ g
(2 )| ceTOP2NG4 o O | | P18 A
w ‘Efﬁ\\uufﬁb‘
Intermediate module for R e N
pressure gauge connection o
OR 2-010/90 L
Check at ports P and T | >
. T T
No variant S 6)5 / {br: |
o \ - \
. © B at— G H($$: s
(1 )| serialNo. O N R PN S B e T
I | ‘ TR
| TP T
Weight: 0,4 Kg ) 5. 4
o7 20
e
BC.2.51 DOWEL CARRIER PLATE FOR SOLENOID VALVE
M5-6H M5x0. 8-6g | - ‘
Module base ‘ ‘ | ‘
| 1 ‘Fﬂ | ‘ P T B A ‘
((2 )| CETOP 2/NG4 J P\LS B B
@ Dowel carrier plate for : OR 2-010/90
solenoid valve 50 d
. o4
No variant S . CALIBRATED
LS. 4 ; o F DIAPHRAGMS AVAILABLE
@ Serial No. d M5x0.8x5
Ot T%/ | 05 | MB89.10.0044
!l |l g;\ J -+ o I w 0.6 M89.10.0045
Weight: 0,05 Kg N C (@ﬁif PN v 0.7 | M89.10.0046
R Lg, ", 0.8 | M89.10.0015
- : 0.9 | M89.10.0047
-0
\T} | 1 M89.10.0048
1.2 M89.10.0049






